Newington College
Outcome 4 — Geometry and Similarity

1.

(a) AABC is aright-angled isosceles
triangle. ADBC 1is equilateral. Find

the size of ZABD .
D
B C
A

2., AKLM isright-angledat L. O, Pand R

are the midpoints of the sides of AKLAM .

KIL=15cm, LM =10 cmi. Find the:
(1) area of AKLM

(i)  arcaof APOR

(iii)  ratio of area A LRQ to area {rapezium

KQORM . Show all reasons.

3. ABCD is a parallelogram.
AP=AS=C0=CR. By using
congruent triangles, or otherwise:

(i) Prove QR = PS and PQ = SR.

(i)  What shape is PORS? Justify your
answer.
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(b) AC=BC=DC=EC. Prove that
AB and DE are parailel.
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4, (i) Provethatll4PQ and LJ4BC 4
are similar.
A
(i)  Hence find the length of
PQ. 10
N 22
/P . i\
8 .
N
B 7 C
5. Two similar cones have surface areas in the ratio 256:81. What is the ratio 2
of the corresponding:
)] slant heights (i)  volumes.
6. In the quadrilateral PORS, 5
PO L OR and SR L OR P
)} Prove that
PR? - Q8% = PQ* - RS? S
(ii)  Hence, prove that
PS?—QR* =(PQ—RSY’ o O | »
END OF EXAM.
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